BREMPREFGETISE(FRMIGE) Wik 9A 28 (K)
Frx

= g & B &t = B E £ B 8

( (kg)

=LZ\CA 12.4 JtiEE 2,376 2,376 10 Va9
ZLZ\CA BRE 972 972 1 A M
IZALCA 315 JtiEE 2,592 2,376 10] vay LL
IZALCA t E - 1,188 10 LL
ZIES5 1.2 BERE 2,808 2,700 0] A M
ZIx5 f = - 1,620 10 LL
[E<E0LY 9.8 £ % 3,024 3,024 150 A L
HTE 1.1 ERE 3,240 — 4 A M
CEOH 6.1 BERE 2,376 2,376 4f A M
FrRy 92.4 B E 1,415 1,026 10| vay 8
FrRY BE K — 648 10 3y 8
IE5SNAZES 1.2 B E 270 259 02 A M
hE 4.6 JtiEE 3,564 3,402 5
_hE 1.3 2 [ 5,832 4860 3l A S
125 2.2 =0 4,590 3,510 5] vay
L) — 2.3 E % 4,536 1,971 10 A LL
T RINGHR 1.8 i B - 97 0.1 M
LAR 345 E % 3,348 3,024 10 A 16
LAR 2 [ 2,160 810 1 A L
FoTHA 1.0 BRE 3,240 3,240 4f A M
=p5Y 25.0 ERE - 270 1 A
=p5Y E X 1,512 108 5
ANESSED) 4.1 BRE - - PR
Al 11.2 BRE - 162 1.1
Al =I5 2,376 1,620 5] A L
k< 21.0 X 7 2,808 1,944 4 A 28
k<~ EES - 2,376 4f A M
=k 6.8 EES 292 259 02| vay M
==kThk ElE 270 248 02 A M
F—<> 5.3 X & 86 — 0.15 A LL
F—<> BE X 2,700 - 5 LL
E5EACL 0.8 BE 2,527 1,966 5] Va9 LL
T35 1.4 BRE 97 76 0.1 A M
[2H5Y 24 BRE 1,814 1,080 3l A M
SPVAITFA 0.4 JtiEE 6,480 3,240 2l A
MrAL& 3.7 BRE 1,404 1,404 5
[EhiLs 325 JtiEE - 2,592 0] A LL
=L 0.8 BRE 3,780 3,240 5] A
AL 6.9 JtiEE - 4,698 10] vay LL
f=FhE 74.9 dtiEE 4,320 4,104 200 A La4
f=FhE JtiEE 1,080 — 10
f=FhE = 2,700 — 20 L
IZAIZK 2.2 ol 5,400 4212 10 4L
HELLV=T 1.3 BERE - 119 0.1 Vi L
ELLV=IT E 15 - 173 025 M M
ZDEET 5.9 K B 32 24 0.1 A
LHL 15 2 [ 97 65 0.2
ESES T 433.8
B=

= g fm B & = B E £ B 8

( (kg)

BINAMDAET 5.1
INGRH A 44 BRE - - PR L
ING RHAPNA BERE - 2,700 5| 7hva M
ING RHEPNA BERE - 2,700 5] 7hva S
INDRH A = B — 1,404 5 L
INGRH DA i B 2,160 — 5 M
INDRFH A & B - 1,404 5 S
LEY 1.8 F 7,344 4,860 17 115
INLULT 46 = I 7,020 3,888 17 88
L7y 1.5 mr2Y 4,806 — 15 45
YATE 11.1
2H% 9.1 E % 5,616 4968 10| 7hya 36
HA%ZLE 51.6
2K 50.8 = [ - 4,320 10 D 3L
DAL 0.7 ik B - 3,240 5[ 7hv1 3L
3HET 2.1
3% 1.9 & % 4,428 3,780 5] vay 15
RO 0.3 E % 378 — 04| vay 3
SESE 8.8
Bilg 3.0 Z @ 1,382 1,296 120 A Wyl
EA—x 1.7 [ W 7,020 5,940 50 19 9
~N1)—A 0.2 & [E - 1,080 1.4 A 4L
AOVEF 1.0
7—ILR 0.8
ZDADY 0.2
ERRYOY1s 19.0
ERRY 19.0
INFF 13.5 EYEY 4,536 3,564 15
NAFyFTIL 6.4 EYEY 3,780 2,808 10
FoA4T)LY 6.7 — - 4,320 6
RERET 1345




